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Chemistry 20 - Unit C - pH and pOH Practice

Name:

1) Calculate the pH of each of the following solutions.
a) A solution of acetic acid has a hydronium ion concentration of 0.016 M.

pH = ~leq (0 01E) :b .20 |

b) A bottle of household bleach has a hydronium ion concentration of 1.0 x 103 M.

pll = g (LOXBY 4 13.00 |

2) Calculate the pOH of each of the following solutions.
a) A solution of sodium hydroxide has a hydroxide ion concentration of 0.105 M.

PQH = ‘Jzog((). IQS> gO. ﬂ}ﬂ7

b) A solution of calcium hydroxide has a hydroxide ion concentration of 0.454 mmol/L.

?GH - -&B(o ,OCDLPSC(> :XLS 343

3) Calculate the hydronium ion concentration for each of the following pH readings.
a) 12.86

o) 0N

b) 5.432 |
E%O*j = (V=2 [z 201076 H ?

4) Calculate the hydroxide ion concentration for each of the following pOH reac‘Wn@s.

a) 13.92 .
Lo = 1032 |, 200074 M|

b) 8.796

Cor 3= 10784 | o0

~~




5) A soft drink was put on the market [H+] = 1.4 x 10-°* M. What is its pH?
M= Hos (14 107) }4.75 |

6) A certain brand of beer had a hydrogen ion concentration equal to 1.9 x 10~ mol/L.
i)  What is the pH of this beer?

(@“\" ’/&8 (. SIS &L\.q"z‘)

7) A solution was made by dissolving 0.837g Ba(OH), in 100 ml final volume. If Ba(OH), is fully
broken up into_its ions, what is the pOH and the pH of this solution?

Mo = el= 03P wel | 0.0488M

393 O.100L
pbH= %(O.O‘H’r)— .00 | o= 1H-50H 12 ‘?Ciol
8) A sodium hydroxide so IS prep red by dissolving 6.0 L of solution.
Assuming that 100% dissociation occurs, what is the pOH and the pH of this solution?

EO\*\} GB%XJ'J;J % _C)\%H
QOHM,QQ%(O 995082 | oH=t- POH—\ )

) Calculate the [H,0"], [OH], pH and pOH of these solutions;

[o\ﬂi\%uo M| pOH = Log(15x0") = 3.52

EHsO*J 5™ =0 Mfé% IO‘“M‘\ pH=19-pH = |0.I§
EC)‘r\‘] 0. 0403* %’L‘Zﬁ L ooosomj pov\iBl. ?—L %m
E\_\ Q‘S ‘O-D?JEO \O“ H ' 07@

) A solution prepared by diluting 1.0 mL of 0.20 M HCl to a total v

Cose O WHx QQIOL - 0, CO00HOM  (Hx8T]:
?H=-log(ﬂf.ox<0‘3)§‘i-‘loi pOH=14-4 4o] 9 co] )
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